1.

x4+ 4x3 = 2x% + ax + b7} o|AHA 9] A FA] o] H of,
29

®a=12,b=9
® a=12, b=-9

® a=9,b=12

B

4 -2x2 tax+b=(x>+px+q?o2 FOH
o) 4] Sme

xt+2x%(px + q) + (px + q)?

= x* + 2px3 + (p? + 29)x* + 2pgx + ¢?

T} Al 4E B wsHH

2p =4, p?> +2¢ = -2

p=2q= -3 9] A

a=2pg=-12,b=¢*=9




T A x2 —dx+ 3a+ b a2 + bx— 69] RO x— 2 o,
a+ b9l g2

D1 @2 ® 3 @ 4 ® 8

f(x) =x*-4x+3a+b,

¢(x) = 22 + bx - 6]t 5}l

f(x) 9 g(x) & BF x- 22 YrojHojz Bz
f(2) = g(2) =0°1A4
f(2)=4-8+3a+b=0,82)=44+2b-6=0
La=1,b=1.. a+b=2




y=-(x-1D(x+3)
=-x2-2x+3
=—(x+1)2+4

x=-1<4d, A 4 & 7ok




S oatA A B Hste] A+ B=-x3-2x2+4x+5,2A-B =
4t —x? —x+1 4 o, 7 o34 A, B E F5HH?

D A=x34+x>+x+2, B=-2x3-3x2+3x+3
@A:x3—x2+x+2, B=-2x>-x>+3x+3
@ A=x3-x2+x-2 B=-2x3-x2+3x+7
@ A=x>-x2-x+2, B=-2x3-x>+5x+3

® A=3x>-3x24+3x+6, B=-4x>+ x>+ x-1

B ~
A+B=-x3-2x2+4x+5---Q
2A-B=4x>-x>-x+1---©

OD+O)+3: A=x>-x2+x+2

(2090-0©)+3: B=-2x3-x2+3x+3




5.  a=2004, b =2001%Y W, ¢® — 3a%b + 3ab? - b* 2] F?

@® 21 @ 23 ® 25 @)27 ® 29

“(a-b)®=3>=27




® Va2

ANl B4l dolE q, b, c2} 5
2(ab + bc + ca) = 52
4la+b+c)=36 > a+b+c=9
207 gzl o))

N

= /(a+b+c+)?—2(ab + bc + ca)
= V81 -52= 29




7. fx)=x*-3x2+2x+5°H5t] f(x-1)=x*+Ax*> + Bx+C¥
o, %4A x B x C 9] 3t= st
» =
> He: 66

S5 \

fx-1)=(x-12-3x-12+2(x-1)+5
=x*4+Ax>2+Bx+C---O

2 xof tigt FSAlolB=

FAA x=0, 1, 25 A2 fAdotH

x=0¢™,-1=C

x=19W,5=14+A+B+C

x=2¥W,5=8+4A+2B+C

Ao Al Ag dFste] EH

A=-6, B=11, C=-1




8. (B-x-2x+1)P =ap+ai(x—1)+as(x—1)2+-- +ays(x—1)15
AW, ap+az +as + -+ a14 & F= Fotofet

> E

> ®Ee: 1

B ‘

ofo] x = 02 HfsHH
1:a0—a1 —|—a2—..._a15...®
ool x = 2E HYUSHH

l=ay+ar+ax+--+ai; ---©
Q@+ 0= s
2:2(a0+02+"'+a14)°]‘:]‘.
Tagtas+--rau=1




O34 f(x)E x— 12 e YHAZE30]1, x4 1= U U 2|7}
, (2 +x+2)f(x)E 2 - 12 te U AE R(x) 2 & o,

ne
—~

vl gelol €18 (1) =3, f(-1) = -1
(F+x+2)f(x) =(x2-1)0(x) +ax+b
x=1x=-1< At

AfQ)=12=a+b---@
2f(-1)=-2=-a+b---©
A, ©= A5t 29,
a=7,b=5

S HUHZ R(x) =Tx+5
R(1) = 12




10, (x-3)(x=1)(x+2)(x+4)+24 E AFENHA (x+a) (x+b) (x2+cx+d)
oIty a+ b+ c—d9] =S Fotofet.

>

> Hehl 10

~&B

x> +x =A% ZgsIH
(x=3)(x = 1)(x +2)(x + 4) + 24
={(x-Dx+2Hx-3)(x+4)} +24
=2 +x-2)(x2+x-12)+24
—(A-2)(A-12)+ 2

— A2 14A + 48 = (A—6)(A - 8)
=(x*+x-6)(x2+x-8)
=(x-2)(x+3)(x* + x—28)
fatbtc—d=-2+3+1-(-8)=10




xofl it o] AL A Al x2 - 3px +4g 4+ 2 = 09] T 2 H|7} 1:27}
L5 of= A p, ¢ol tiote] o T EH2 g0 gro= M 22
27

1 1
o1 o-; @ @ 1 ® 2

T 29 u7b1: 20|28 % 22 o, 202} 51
2t A5-9] BA) ool

@A a = pol S Ol HdsHH

2p2 =4g+2 - p>=2g+1------ @)
S8, p, g(A%) oA Fol R WS

M2 OhE & A28 shxol sfnz
—( 3p)? 4(4 +2)>0

ﬁ”"@ﬂltﬂ‘”ﬁ‘} (184 +9) - 16p—8 >0

1
2¢+1>0 .'.q>—§




Z 1
O| A A qx? + bx 4+ ¢ = 0 b S FE Hol £ L >

: g5 Hop —1, 49 & &< A3t ol W, &2 &

%2,
k1
(9}
i
N

1o

=
= = i)
altceE 200z T Lol g2
1 c
=4=- c=2a
a

(i), (il)olA Foix A2
ax?> —3ax+2a=0
a#00B2 x2-3x+2=0
(x-1)(x-2) =0

Tx=1 F= x=2

wetA] 2o g 3ol




13.

O|ZFFHE y = a2 —ax + 1 9 TS} x 23} AR T2 T Hoj A

= e
g o, A% q 9] 3] MR

Da<-1E=a>1 (@)a<—2El§a>2
® l<a<-1 @ -2<a<?2
®a=-1E=a=1

~&B

oA y = ¥ —ax+ 1 9 THZ7}
x Z0 AR T2 F HoA Tz
O AFHFA Al x2 — gx +1 = 0 O] A]




14.

y = x?
FEE SHz A4 a9 ko] W

D -12<a<1 @ -12<a<?2

@ -1l<a<?2 ® -10<a<?2

B

+ax+ 39 d#zet A y = x4 3a7} THHA

(@)—11<a<1

]1}5—ry—x +ax+39] 1 Lo}
A y=x+43aE AR TR foEg
]]’H}ﬁ"]x +ax+3=x+3a,

Zx2+(a-1)x+3-3a=0°]A

=(a-1)2-4(3-3a)<0

a*+10a-11<0, (a+11)(a-1) <0
-1l<ax<l1

S




15. ©oAFe y = —x? 4 2kx + 4k ] ] 5

® 7 @ 5 (@)1 @ 9

y = —x% + 2kx + 4k
= —(x% - 2kx + k? — k?) + 4k
=—(x—k)? + (k* + 4k)

NG k2 +4k=5, k2 +4k-5=0
k=1FEk=-5Xk>0°ER2 k=1







_ oLtV

5 A, g +a?+t--+at 9 FFe?

-1 ®‘1 ® 0 @
O 2

|

B

—1+\/_l oA 20+ 1 — V3i
Bd% ]—J—OH/H A5t A o® +a+1=0
)(a +a+1)—0,a’ =1

s = Q’Q,a?’k =1

. /\

s = a,a
=(@+a®+1)+(a+a®+1)+
cH(@tad®+ 1) +ata®

= a+ a2

=-1

(%‘

\_/

(0 a®+a+1=0)




